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S9: sHSXEH (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 65,250 63,000 2,250
HEsHYHH 2 XE ALY (01Y) 65,250
st &=20! 99,200 158,400 259,200
308 XtXIEHHSOIA 99,200 158,400 A 59,200
01 AXHHILEES 99,200 158,400 A 59,200
OsIIT=R20IAH (0] ) 99,200
SHE 2502 KA 2,779,628 2,666,664 112,964
= 1,806,656
< 972,972
308 AHAIEHHSOIA 2,779,628 2,666,664 112,964
= 1,806,656
< 972,972
01 HIXNHHNBHNEELS 2,779,628 2,666,664 112,964
OsHEESWUA SE€222Y 2,769,228
= 1,796,256
< 972,972
Os0E&E 2s00l=sdH 294l XA 10,400
= 10,400
OEs0HY ASHRHAEY 1,702,896 1,073,800 629,096
308 XtXIEHH SOl A 1,702,896 1,073,800 629,096
01 HXNHHBHELS 1,702,896 1,073,800 629,096
Od=s0go d=H<LH 1,702,896
FAOBt=83al R2E= 10,000 5,000 5,000
310 2201 & 10,000 5,000 5,000
02 2HRE= 10,000 5,000 5,000
OFAOEI=E 3l R 3 10,000
SHEMEH 86,800 80,800 6,000
201 Let24E] 32,400 32,400 0
01 At 22l 32,400 32,400 0
Ogetd & =8| 31,000
OSgt(s382F) 1,400
202 O4dl 6,000 0 6,000
01 = LH 4 bl 6,000 0 6,000
OLEts L E HEAY B3 6,000
203 YR =&t 48,400 48,400 0
03 Al =AY R =& 48,400 48,400 0
Os8A#HFZ 39,400
OsSOHUEH 25 & AL = 9,000
SPols2 HE> At 20,000 0 20,000
403 XIS E =0l & 20,000 0 20,000




2N
X ZH -
L= B

el

O b o
R J¥ 1e

°

F

$0 0

Jionr g2
02
O
Ol

5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
01 XIS A 2E X 20,000 0 20,000
OFLYAZ SAHFAYGO 32 BLE (Y2 AH 20,000
ANEESAIE =4 7,823,221 5,770,919 2,052,302
= 407,183
2 5,285,000
=} 2,131,038
Lelsaot= S AIEHOH S AL 6,000 6,000 0
307 QI2t0| & 6,000 6,000 0
04 QI2tHAIE X = 6,000 6,000 0
OF=2208 s4t= SHOtE &I} 6,000
SEENMENMATHEAHE S A 22 5,000 5,000 0
201 gBt2Ay| 5,000 5,000 0
02 2% H| 5,000 5,000 0
OsZSAESIATUNEHES S A 2] 5,000
=s=M=E== &0l =4 1,066,100 796,320 269,780
2 945,000
= 121,100
403 XX SHHS K20 & 1,066,100 796,320 269,780
2 945,000
= 121,100
01 XIS A=Z2E X 1,066,100 796,320 269,780
OsM=sZ=HE0ls =4 1,066,100
2 945,000
o 121,100
sE=M K& 39,000 78,000 A 39,000
= 30,000
= 9,000
308 MXISHMSOIA 39,000 78,000 A 39,000
= 30,000
& 9,000
01 IXHHIMNEXS 39,000 78,000 A 39,000
Os&==sHM K& 39,000
= 30,000
& 9,000
SFEMA 4 2,847,000 1,960,000 887,000
2 2,360,000
= 487,000
308 AHXIEHSOIA 1,669,000 1,057,000 612,000
2 1,388,000
& 281,000
01 AIXSHMENMNEX= 1,669,000 1,057,000 612,000
OStEAMASHAIS (FA) 1,669,000
2 1,388,000
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403 MtXISHHE =01 & 1,178,000 903,000 275,000
& 972,000
= 206,000
01 XS M A=2EE 1,178,000 903,000 275,000
OSELAS LAY (IH2) 1,178,000
= 972,000
< 206,000
R RS EAES RSP 4,721 19,699 A 14,978
= 4,183
= 538
308 XtXIEHH SOl A 4,721 19,699 A 14,978
= 4,183
< 538
01 AXHHILEES 4,721 19,699 A 14,978
OZ2E2HAZ =N 4,721
= 4,183
< 538
otMsl sE0IE 2SI 900,000 792,000 108,000
403 MHXSHHSA=0l& 900,000 792,000 108,000
01 HXSHMA=LE X 900,000 792,000 108,000
Ootds sE0t2 eS| 900,000
s&2 HME I8 - 28 AMEXE 2,380,000 1,572,000 808,000
& 1,980,000
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& 5,000
< 5,000
01 At 22l 10,000 0 10,000
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= 5,000
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403 A X EHHS =0l A 2,370,000 1,572,000 798,000
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< 50,000
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< 10,500
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= 35,000
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= 35,000
< 10,500
sNEESItg 2 & Xl&el 6,900 6,900 0
202 O4dl 6,900 6,900 0
01 = LH YI 6,900 6,900 0
O=sX&dg 5oH(E2) Xl 6,900
=g 6XAHY s Fot NJ 10,000 0 10,000
308 XXIEHHSOIA 10,000 0 10,000
01 IXNHHNBNEES 10,000 0 10,000
O=Y 6xtaty ¢&ts ot N 10,000
XAt S BAS HAEEAY 312,500 0 312,500
= 187,500
< 125,000
308 XX EHHSOIA 312,500 0 312,500
= 187,500
< 125,000
01 AXHHILEES 312,500 0 312,500
O=g extatdst A48 X2 312,500
= 187,500
< 125,000
HE2LAZH (sZF ) 91,422 86,922 4,500
Jl=&l 91,422 86,922 4,500
Jl2ztl 91,422 86,922 4,500
201 Let24d] 18,942 18,942 0
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01 At 22l 18,942 18,942 0
OJle=+=&Hl 7,964
OJles gl 10,978
202 o4dl 41,580 41,580 0
01 = LH o4 1l 41,580 41,580 0
OJl20Hl 41,580
203 YR =& 26,400 26,400 0
01 J1Z2Z YR8 6,600 6,600 0
OsdE=% 6,600
04 FN2ELRZ=TH| 19,800 19,800 0
O=sgZ3 3 4,200
O=satX & 1t 4,200
OdN=SASH 3,000
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